Adding on 20 to humbers up to 100
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IS ERRRE A L1 LA ERT kL i bhddbhia;
41+ 20 = 50 + 20=_ /0 +20=_
26+ 20 = 69 + 20=_ 86 +20=__
84+ 20 = 81+ 20=_ 16 + 20=
38+ 20 = 43 + 20=_ 60 + 20=__
34+ 20 = 3+ 20=_ 46 + 20 =
39+ 20 = 74 + 20 =

Wworking Mathematically

1) Kevin has 43 cards. He then bought 20 more.
How many does he have now?

2) Lena sold this many chocolate bars on
Monday.

She then sold 20 on Tuesday.
How many did she sell altogether?

3) 68 girls and 20 boys took part in a play. How many
children were in the play?
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